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Answer the following items by choosing the best choice.

1. What is the label used for the process that allows us to make judgment about the value of a measure?
a. testing b. evaluation c. assessment d. examination
2. Which of types of test is designed to predict a person's possible progress in achieving a skill or
knowledge?
a. proficiency test b. selection test C. prognostic test d. achievement test
3. Which of the following tests helps a teacher to find out about the strong and the weak areas in
testees' knowledge?
a. diagnostic test b. prognostic test C. progress test d. mastery test
4. Which of the following tests is most useful when there is very little time for scoring?
a. cloze b. composition c. true/false d. dictation
5. Which of the following tests is used to determine the starting point for learners of English as a
foreign language?
a. achievement test b. power test c. speed test d. placement test
6. Which of the following is most appropriate when the number of testees is large and the time for
scoring is short but the time for preparation is enough?
a. interviews b. dictation c. cloze tests d. multiple-choice tests
7. Which of the following methods of scoring a cloze test requires the examiner to base his judgment
on the degree of response conformity to native-like norms?
a. clozentropy b. standard method
c. exact-word method d. most-frequent word method
8. Which of the following is most probably obtained if two tests are administered at the same time?
a. predictive validity b. construct validity

c. criterion-related validity d. face validity
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9. Which of the following are the main methods for scoring interviewees' performance in their speaking

ability?
a. gradual and holistic b. holistic and analytic
c. holistic and discrete d. holistic and partial

10. Which of the following enable us to compare scores that have been obtained from different tests?

a. raw scores b. percentile ranks c. standard scores d. cumulative frequencies
11. The split-half reliability of a certain test has been estimated to be .80. What is the reliability of the
whole test?

a. less than .80 b. more than .90

c. between .70 and .80 d. between .80 and .90
12. If we have a normal distribution, what percentage of scores fall between one standard deviation

below and one standard deviation above the mean?

a. about 34% b. about 50% c. about 68% d. about 95%
13. In a normal distribution, what is the percentage of scores that fall between ISD from the dividing
line?

a. about 34% b. about 20% c. about 68% d. about 3%

14. Which of the following tests can provide us with a scorer reliability of 1?

a. composition tests b. cloze tests c. integrative tests d. multiple-choice tests
15. Which of the following is most appropriate to be tested by using dictation tests?

a. listening comprehension b. speaking fluency

c. spelling and grammar d. writing skill
16. Which of the following is increased if we increase the number of reading passages in a reading
comprehension test?

a. validity b. reliability c. readability d. practicality
17. A teacher believes that reading ability is a unitary skill. Which of the following tests is he more
likely to use in his reading class?

a. inferential method b. multiple-passage approach

c. cloze procedure d. short-context technique
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18. Which of the following tests appears when the number of applicants is larger than the number of
available positions?
a. selection test b. competition test C. mastery test d. power test
19. Which of the following is most appropriate if there is very little time for developing a test but
plenty of time for scoring?
a. composition b. multiple-choice c. cloze d. fill-in-the-blank
20. The following are the IF and ID of four different items. Which one is the most suitable item?
a. .55 and .65 b..75 and .15 c. .95 and .90 b..22 and .16
21. A normal curve has a number of properties. Which of the following is FALSE as one of them?
a. The values of mode, mean, and median are the same.
b. Most of the scores pile up in the center of the curve.
c. Half of the scores are below and the other half are above the mean.
d. Frequency of each score increases as we move away from the mean.
22. One hundred students have taken a test and 15 of them have obtained a score of 20. No other score
has a frequency as high as this score. What is this score called?
a. median b. range C. mean d. mode
23. What is the range in the following group of scores?

40, 68, 21, 89, 21, 21, 59, 98, 71, 71, 34, 92, 94, 43, 10

a. 21 b. 73 c. 94 d. 88

24. Which of the following methods of estimating reliability suffers most from practice effect?
a. equivalent forms b. test-retest
c. internal consistency d. split-half

25. Which of the following is main difficulty in estimating reliability through the alternate-form
method?

a. We cannot divide a test in half to prepare two forms that are similar.

b .It is very difficult to prepare two equivalent forms of the same test.

c. We cannot administer the test to the same people twice.

d. It is difficult to have an equal number of items in both tests.
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26. What label is used to refer to the extent to which a test measures what it is supposed to measure?
a. reliability b. validity c. practicality d. testability
27. Which of the following is NOT one of the reasons for the popularity of the tests of grammatical
structure?
a. Grammatical structure is easier than other components to test.
b. Most test writers have a general agreement about its content.
c. Grammatical structure items are the easiest types to construct.
d. Grammatical structure is a part of all four language skills.
28. Which of the following statements is TRUE about testing “pronunciation?”
a. Segmentals are less important than suprasegmentals in comprehensibility.
b. Segmentals are as important as suprasegmentals in comprehensibility.
c. Segmentals are more important than suprasegmentals in comprehensibility.
d. Segmentals and suprasegmentals are rarely important in comprehensibility.

29. In testing listening comprehension, which of the following is most appropriate for advanced

learners?
a. formal lectures b. short informal lectures
c. movies with subtitles d. special English texts

30. Some test writers believe that language is a system of separate categories such as phonemes,
morphemes, words, etc. Which of the following is most probably practiced by these people?

a. integrative approach b. discrete-point approach

¢. holistic approach d. analytic approach
31. Which of the following is used as a synonym for integrative tests?

a. functional tests b. communicative tests

c. pragmatic tests d. holistic tests
32. A language teacher has based his evaluation of students on observation and verbal or non-verbal
descriptions such as letters of reference. What type of evaluation is this called?

a. qualitative evaluation b. formative evaluation

c. summative evaluation d. objective evaluation
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33. Which of the following refers to an unannounced, informal test of what has been covered in a
previous session of a class?

a. exam b. test battery c. assessment d. quiz
34. What is the main function of the stem of a multiple-choice item?

a. stating a specific point b. implying a specific point

c. expressing a specific point d. stating or implying a specific point
35. Where can we find most of the scores in a normal distribution?

a. around the left tail of the curve b. around the right tail of the curve

c. around the mean d. scattered evenly
36. One hundred students have taken a test. The cumulative frequency of the score 15 is 60. How many
students have scored above this score?

a. about 30 b. about 40 c. about 50 d. about 60
37. A test writer should go through a number of steps. Which of the following is the last step?

a. planning b. writing C. reviewing d. pretesting
38. You have got a score of 40 on a test. The standard error of measurement on this test is 5. What
range of scores gives us a 95 percent certainty for estimating the true score of this student?

a. 40-50 b. 30-50 c. 30-40 d. 40-60
39. What label is used for words that we understand in reading and listening but we may not use in
writing or speaking?

a. active vocabulary b. passive vocabulary

c. productive vocabulary d. receptive vocabulary
40. What is the main advantage of using recording in testing listening comprehension?

a. uniformity in administration b. reliability in scoring

c. validity of content d. practicality in performance
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